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Government of India : Department of Posts
Multi-Tasking Staff { MTS) Examination for Direct Recruitment for 2013 & 2014 in
Andhra Pradesh Postal Circle.

Date of Examination: 07.06.2015
Time of Examination : 10:00 Hrs to 12:00 Hrs
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Hall Permit Number

L —

Instructions to the Candidates:

1) Candidate has to note the Roll Number in the space provided above
immediately after taking the Question Paper from the invigilator.

2) Each Question Paper contains four parts : Part A - General Knowledge ,
Part B — Mathematics, Part C(i) — English, Part C{ii) - Telugu

Part A & B are supplied in Bilingual in English and Telugu. Candidate can
choose either Telugu or English. Part C(i) & Part C(ii) are supplied in one
language . All candidates have to answer Part C(i) and Part C(ii).

3) Part A and Part B are also available in Hindi separately. At the request of the
candidate, Part A & Part B in Hindi will be supplied separately.

4) Each Part contains 25 questions and all questions carry 1 mark each.

Candidate has to answer all the questions using Black or Blue Ball Point Pen only
in the OMR answer sheet.

5) Candidate can answer the four parts in the order of his/her choice.

6) Candidates are allowed to take the question paper and carbon copy of OMR
answer sheet to their home after completion of the Examination.



General Knowledge SET - A Part - A 25 Marks

1.The southernmost point of peninsular India, that is, Kanyakumari, is located

A. North of Tropic of Cancer B. South of the Equator

C. South of the Capricorn D. Morth of the Equator
2. The Radcliffe line is a boundary between

A. India and Pakistan B. India and China

C. India and Myanmar D. India and Afghanistan

3. Which atomic power station in India is built completely indigenously?
A. Kalpakkam B. Narora C. Rawatbhata D. Tarapore

4. Which of the following drainage systems fall into Bay of Bengal?
A. Ganga, Brahmaputra and Godavari
B. Bharathapuzha, Krishna and Cauvery
C. Luni, Narmada and Tapti
D. Both (A} and (B)

5.The oldest mountains in India are
A. Aravallis B. Vindhyas C. Satpuras D. Nilgiri hills

6.The title of "Viceroy' was added to the office of the Governor-General of India for the first
time in
A. 1848 AD 8. 1758 AD C. 1858 AD D. 1862 AD

7.The title given by the British Government to Mahatma Gandhi which he surrendered
during the non-cooperation movement was
A. Mahatma B. Kaiser-e-Hind C. Rai Bahadur 0. Rt. Honorable

8.The Uprising of 1857 was described as the first Indian war of Independence by
A. 5.N. Sen B.R.C. Mazumdar  C.B.G. Tilak D. V.D. Savarkar

9.The ratio of width of our National flag to its length is :
A, 3:5 B. 2:3 C. 24 D. 3:4

10.Who wrote the famous song 'Sare Jahan Se Achha'?
A. Faiz Ahmad Faiz B. Mohammad Igbal
C. Bankim Chandra Chattopadhyay D. Rabindranath Tagore

11.The 'Dronacharya Award’ is given to...?
A. Spartsmen B. Coaches C. Umpires D. Sports Editors

12. Who was the first Indian to win an individual medal in Olympics?
A. Milkha Singh B. P.T.Usha €. KarnamMalleshwari D. K.D.Jadhav

13. The minimum age to contest for election to the Lok Sabha is
A. 25 years B. 21years C. 18 years D. 35 years



14. The name of a candidate for the office of president of India may be proposed by
A. any five citizens of India B. any five members of the Parliament
C. any ten members of the Electoral College D. None of the above

15.The name of our country given in the Constitution is
A. Hindustan or Bharatavarsha B. India or Hindustan
C. India or Bharat D. Bharatadesh or India

16. The preamble to our constitution includes all the following except
A. adult franchise B. equality of status C. Fraternity D. justice

17.Excise duty is a tax levied on the
A. import of goods  B. exportofgoods C.production ofgoods  D. sale of goods

18. Deficit financing means that the government borrows money from the
A. RBI B. world bank C. Stock market D. IMF

19. Washing soda is the common name for
A. Sodium carbonate B. Calcium bicarbonate
C. Sodium bicarbonate D. Calcium carbonate

20. Heavy water is
A. rain water B. PH7 C. deuterium oxide D. tritium oxide

21. From which mineral is radium obtained?
A. Rutile B. Haematite C. Limestone D. Pitchblende

22. LPG consists of mainly
A. methane, ethane and hexane B. ethane, hexane and nonane
C. methane, hexane and nonane D. methane, butane and propane

23. Which of the following post office scheme attracts highest rate of interest
A. time deposit B. monthly income scheme
C. sukanya samriddhi account D. recurring deposit

24.Which of the following is the lightest metal?
A. Mercury B. Lithium C. Lead D. Silver

25.Look at this series: 22, 21, 23, 22, 24, 23, ... What number should come next?
A. 22 B. 24 C. 25 D. 26



MATHEMATICS SET-A Part-B (25 Marks)

1.The length of the bridge, which a train 130 metres long and travelling at 45 km/hr can
cross in 30 seconds, is:

A 245 m B. 225 m C. 200 m D. 250 m

2.A train speeds past a pale in 15 seconds and a platform 100 m long in 25 seconds. Its
length is:
A. 150 m B. 50m C. 200 m D. Datainadequate

3.A can do a certain work in the same time in which B and C together can do it. If A and B
together could do it in 10 days and C alone in 50 days, then B alone could do it in:
A. 25 days B. 20days C. 15 days D. none of the above

4. 10 women can mmpleté a work in 7 days and 10 children take 14 days to complete the
work. How many days will 5 women and 10 children take to complete the work?

A 3 B. 5 ey D. Cannot be determined

5. Sakshi can do a piece of work in 20 days. Tanya is 25% more efficient than Sakshi. The
number of days taken by Tanya to do the same piece of work is:
A. 16 ; s C. cannot be determined D. none of the above

6. A and B together can do a piece of work in 30 days. A having worked for 16 days, B
finishes the remaining work alone in 44 days. In how many days shall B finish the whele
work alone?

A. 30days B. 40 days C. 70days D. 60 days

7. The cost price of 20 articles is the same as the selling price of x articles. If the profit is
25%, then the value of x is:
A. 15 B. 16 C. 18 D. 25

8. Some articles were bought at the rate of Rs.5 per 6 articles and sold at the rate of Rs. 6
per 5 articles. profit percent is:
A. 44% B. 33% C.cannot be said D. none of these

9. A trader mixes 26 kg of rice at Rs. 20 per kg , with 30 kg of rice of other variety at Rs. 35
per kg and sells the mixture at Rs. 30 per kg. His profit percent is:
A. No profit, no loss B. 5% C. 8% D. none of these

10. A sum of money at simple interest amounts to Rs. 815in 3 years and to Rs. 854 in 4
years. The sum is:
A. Rs.B650 B. Rs. 690 C. Rs. 698 D. none of these

11. Acertain amount earns simple interest of Rs. 1750 after 7 years. Had the interest been
2% more, how much more interest would it have earned?
A. Rs. 35 B. Rs. 245 €. Rs. 350 D. Cannot be determined

12, The greatest number of four digits which is divisible by 15, 25, 40 and 75 is:
A. 9000 B. 9400 C. 9600 D. none of these



13. The ratio of two numbers is 3 : 4 and their H.C.F. is 4. Their L.C.M. is:
A, 12 B. 16 C. 24 D. 48

14. The average of 20 numbers is zero. Of them, at the most, how many may be greater
than zero?
A. O B. 1 C. 10 D.19

15. A pupil's marks were wrongly entered as 83 instead of 63. Due to that, the average
marks for the class got increased by half (1/2}. The number of pupils in the class is:
A, 10 B. 20 C. 40 . 73

16. A and B invest in a business in the ratio 3 : 2. If 5% of the total profit goes to charity and
A's share is Rs. 855, the total profit is:
A. Rs. 1425 B. Rs. 1500 C. Rs. 1537.50 D. none of these

17. A began a business with Rs. 85,000. After some time B joined with Rs. 42,500. After 12
months the profits were divided in the ratio of 3:1. For how many months both A and B
were together?

A. 4 months B. 5 months C. 6 months D. nane of these

18. The sum of first five prime numbers is:
A. 21 B. 26 C. 29 D. none of these

19, The difference of the squares of two consecutive even integers is divisible by which of
the following integers ?
A. 3 B. 4 C. 6 07

20. If 40% of a number is equal to two-third of another number, what is the ratio of first

number to the second number?
A 2:5 B. 3:7 G 5a3 D. 7:3

21. Two numbers are in the ratio 3 : 5. If 9 is subtracted from each, the new nLim bers arein
the ratio of 12 : 23, The smaller number is: .
A 27 B. 33 C. 49 D. 55

22. In a bag, there are coins of 25 p, 10 pand 5 pinthe ratioof 1: 2 : 3. If there is Rs. 30 in
all, how many 5 p coins are there?
A. 50 B. 100 C.150 D. 200

23.0.002x05=7
A. 0.0001 B. 0.001 C. 0.01 D. 0.1

24.1/3 of 1/4 of x = 12 . what is the square root of x?
A, 12 B. 144 C. 60 D. none of these

25.A dealer marks his goods 10% above the cost price, but allows a discount of 10%. Find
out his profit/loss percent.
A. no loss & no profit B. loss1% C. profitl% D. none of the above.



ENGLISH SET- A Part — C (i)

1.The Amazon in Brazil is ---- longest river in ---- South America.
A, the /- B. -/the C. the / the D. a/the

2. There Is paper — the floor. Please put it ---- the wastebasket.
A. at/into B.on / at C.on/fin D. over/ at

3. bdon't know why she didn't ask me how to do it as | ---- her,

A. must have helped 8. could have helped
C. might help D. should have helped
4. People who are averse ---- hard work, generally do not succeed —life,
A, of/at B. for/in C. for/at D. to/fin
5. All pilots ---- speak English so that other pilots and air controllers --- them.
A. have to / understand B. had to / will understand
C. have to / would understand D. will have to / understand

6. Which is the word nearest in meaning to “unbridled”  ?
A. unbreakable B. not controlled
C. unbiased D. impossible to defeat

7. Repface the words in bold in the following sentence with a single word.
Let us stop work from this very moment,

A. thence B. Hence C. henceforth D. tinge

25 Maris

8. Which of the following means to change one’s opinion about something and then hold

the opposite opinion?
A. topsy-turvy B. dilly-dally C. extricate D. Flip-flop

9.What is the antonym of “scream”?
A. whisper B. Cream C. flicker D. nascent

10. What is the antonym of the word “bright” ?
A. cool B. Dull C. light D. tight

11. When the going gets tough, the tough gets ---------
A. clever B. Coming C. going D. tougher

12. What is the meaning of “ | gave him a piece of my mind”.

A. I made my mind pieces B. I gave him an idea

C. | appreciated him D. | scolded him,
13.Everyone of the boys -------- to ride.

A. loves B. are loving C. love D. loving

14. He ------- under that pipal tree,
A. lie B. Lay C. laid D. has laid



15.Find the part of the following sentence which contains a mistake.
He has just said that his master was writing letters.

A. He has just said B. that his master

C. was writing letters D. na mistake

16. | returned home , after he --------
A. went B. has gone C. goes D. had gone

17. You cannot catch the bus ---- you run.

A. unless B. otherwise C. if D. lest
18. 1 am right, ==--==ss=a-a-?

A, am| B. aren't | C. amn't| D. isn't |
19. Newton discovered that the force of gravitation ------- apples fall,

A, has made B. will make C. makes D.make

20. Find the odd man out
A. ball 8. hall C. wall D. call

Read the passage given below and complete the sentences that follow by
choosing the most appropriate options:

My peers always thought of me as a dull boy when | was in school and my teachers never
thought differently. That was because | was indeed a dull boy. | was back bencher after all.
could never have been a frontbencher for obvious reasons. | had a persmtem paranoia uf
being under the watchful eye of the teacher. It used to make me self - conscious and ! hated
being under supervision right from childhood. | wanted to be my own boss. | have no regrets
about having been a backbencher. it is true that | used to occupy one of the seats in the last
row of the class but that does not mean that | did not listen to the teacher or that | cheated
on homework. In England, there used to be a dunce’s corner for students who were slow
learners. A student in the dunce’s corner was supposed to be the rough equivalent of a
backbencher in our country. Some eminent personalities from whom teachers didn’t have
very high expectations early on in life included the inventor, Thomas Alva Edison, as well as
entrepreneurs Steve jobs and Bill Gates. | feel honoured to be in their company. There are
athers, of course, who prefer to make funny sounds, complete pending homework and
throw chalks at other students -- all sitting on these ﬂleged seats’. Believe me, it feels
great! Because you not only learn whatever is taught but also get a back-eye-view of
everything that happens in the class.

21. The paragraph describes -----------—--
A. the simple joys of the frontbenchers B. the simple joys of the backbenchers »
C. the regrets of the author D. the achieverments of the author

22. The backbencher is considered a -——--—-------
A. dull student « B. bright student

C. popular student D. teacher’s favourite
I



23. The backbencher feels great because he/she —--------
A. can complete pending homework
B. can make funny sounds
C. can have a back-eye-view of everything that happens in the class
D. gets opportunity to eat snacks in between

24, The expression, ‘privileged seats’ refers to ------------
seats reserved for teachers’ favourite students

the last seats meant for the dull students

seats for eminent persons like Bill Gates and Edison
frontbenchers

o0 ® >

25. The author preferred to sit in the last row hecause —------------
A, he was afraid of his teachers
B. he always cheated on his homework
C. he wanted to listen carefully what was being taught in the class
D. he hated to be under the watchful eye of the teacher.




TELUGU SET - A Part C(ii) 25 Marks
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General Knowledge SET-A Part— A 25 Marks
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MATHEMATICS SET- A Part—B (25 Marks)
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